Erg31E28 FEEEEIR
BT 1123415167819 [10[11[12[13[14[15[16[17[18[19]20] 2122232425/ 26] 271 28 =
Be zlx|B[ABlx|k[x[e[t[B]A[X[X)][Ax[2][x][B[B[X][XR[Xx|[£[£[B]A[X][Xk][XK H
HERE BEE B
RUME TESRA ] = CRNE = = 1”& = = 2 = = = 1B |OXRDOHFFFERBZET, BH
% & el |EIEIED |2l |EIEIZl 2Bl EIEIZ IEIE | |om srsisRsc ORF
H
08:20~09:10
09:20 B1%E
~ EoHE rist| 3y Axst| FR nist| F Azt O— KRR TR ETICMRBEH
F3H= DRAEIZ2EEHET HEIIL
10:10 FE:\%\;F&EEE ® ﬁ\g ﬁ\g ® ﬁ\g ® ﬁ\g :C<T£éb\o (ﬁﬁ""—?—"ﬂﬁﬁﬁ?ﬁ‘%("’
10:20 E1HE bNFEEA)
~ g25z |©| 1 |% |6 ® @@ 1% G OGO M1 [#%H OO O OO 1% 6| 0]06|6|O2KENFHDBIHEAERTL2
EIHE @ @) ® ©) R ERTRET HFEHEOTH
1o [panmE| Q| F B Q= Q= B PRI ISR FchET .
11:20 F1HE R zx= 3= g | R Fg 3= g | R Fg g {RP g | R Fg g {RP 3= (BB 21285 1R E)
~ $F2%=E | 7 |0OD|D| 2 4|1 8|9|/oDjMD|2|7|5|4|10/oD|D| 2|3 |4|5|6|oDjD|2|7|5]| 4
$EI3UE ® ® O—EBMEFHQOADIE. s 2K#
1210 |RkEE @ @ @ HET, PRNLETY, (B3
13:20 EIHE FFIRZ58)
~ F2HE 10| & 6 |%[3|8|6|9|3|10(%[8|9]|10]2|3|6|%|3|8|6]9
1410 |makE= : : : : DRUFEIZ2EEHET HEIICL
0 T Einz i 2 2 i 2 i 2 TR, (RBEHABRN R
~ BoRE E 10| % 3% 10| % SNELA)
EIRE 16 p— _
o |EoEE [ © 0 [0/0®0 [ ©O[O[00B0 60|06 pyymspn
15:20 B1HE ESIS 2
~ FoHE 6 | %% 3|4 6 | % 5% http://115.179.110.186
g3%= [ O ®|® OIGHEIIGIC) DIOHONCIGIG) @@ 6| B
1610 |mafcEE L @ L @ L @ L @
16:40 | 16:20 F1HE AR AR AR | g | AR AR AR AR Akt | st
~ ~ F2H=E | 5 gt 62| 4 419]|7/(10] 2 415|678 419]7/(10
g3g= [ ® OV @|® ®| 6| 0|6
1730 | 17:10 [mam@E=| @ @) @) @ @
17:40 | 17:20 | H1H=E 1 1 1 1 1 1 1 1
~ ~ FoHE | 3 5 913 5101 86| 5 1012 (3| 4(5 510/ 8| 6
F3H= 0| B ® ®|®|®| 0| ® ® ® WO ®|® | ®| O
18:30 | 1810 |Ea#EE| Q) ©) 3 ©) 3
18:40 B1%E oD oD oD oD oD oD oD oD 2
~ F2HE 7 101 5 (7 623|719 6[7(8]9](10 6123|717 B80120-39-9755
#3%E | ® ® @ ®| @ ® OGO XEZTOFHIL.
19:30 wagg=| @ @ @ @ @ 9:30MBZ(TFTET,
19:40
20:30
_ [RERDEBIYBDBEEEHYF A HFOEVED TRELZE DA ELBYFET, SZHEEAZRERR (REBEHDOBSIIxEFITELL
% %2/9(£)M 820D B RAIELEYET , TAITFELM9:40~20:30DH B IXFEIELET 3)
% 1E8f 1-2-3-4-5-6-7-8-9-10
el (%E& 2-3-®-6-©-@-®-@--0-@-B-0-




